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3HQHOLWLDQ LQL� EHUWXMXDQ� XQWXN� PHQJHWDKXL� SHQJDUXK� DNXQWDELOLWDV��
NHVHVXDLDQ�NRPSHQVDVL�GDQ�SHQJHQGDOLDQ�LQWHUQ�WHUKDGDS�SRWHQVL�NHFXUDQJDQ�GDQD�
GHVD� -HQLV� 3HQHOLWLDQ� LQL� DGDODK� SHQHOLWLDQ� NDXVDOLWDV�� 3RSXODVL� GDODP�SHQHOLWLDQ�
LQL�SDGD� VHOXUXK�GHVD�\DQJ�PHQHULPD�GDQD�GHVD�GL�.DEXSDWHQ�/LPD�3XOXK�.RWD�
\DLWX� VHEDQ\DN� ��� 'HVD�� 3HQHOLWLDQ� LQL� PHQJJXQDNDQ� 7HNQLN� 7RWDO� 6DPSOLQJ
VHKLQJJD� VHOXUXK SRSXODVL� GLMDGLNDQ� VDPSHO SHQHOLWLDQ�� 6XPEHU� GDWD� DGDODK� GDWD�
SULPHU��0HWRGH�SHQJXPSXODQ�GDWD�GHQJDQ�FDUD�PHQ\HEDUNDQ�NXHVLRQHU��0HWRGH�
DQDOLVLV� GDWD� \DQJ� GLJXQDNDQ� DGDODK� DQDOLVLV� UHJUHVL� EHUJDQGD�� GHQJDQ� SRWHQVL�
NHFXUDQJDQ VHEDJDL� YDULDEHO� WHULNDW� GDQ� YDULDEHO� DNXQWDELOLWDV�� NHVHVXDLDQ�
NRPSHQVDVL� GDQ� SHQJHQGDOLDQ� LQWHUQ VHEDJDL� YDULDEHO� EHEDV� +DVLO� 3HQHOLWLDQ�
PHQ\LPSXONDQ�EDKZD�EXGD\D�RUJDQLVDVL�GDQ�SHUDQ�DXGLWRU� LQWHUQDO EHUSHQJDUXK�
VLJQLILNDQ�SRVLWLI�WHUKDGDS�SHQFHJDKDQ�IUDXG�
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